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Question: 1 
   
You want to integrate data cloning with the rest of the infrastructure deployment to create a test 
environment. 
In this scenario, which automation mechanism would be incorporated for your cloud-based testing? 
 
A. Ansible playbook using REST API calls for different tasks 
B. Ansible playbook using ZAPI calls for different tasks 
C. cloning the environment from within System Manager 
D. SOAP calls from a client tool 
 

Answer: A      
 
Referring: https://cloud.netapp.com/blog/automated-data-cloning-for-cloud-based-testing 

Question: 2 
   
You have deployed your application to an NKS cluster in your on-premises environment with ONTAP 
Select. You now want to move your application to an AWS environment. 
What are two ways to accomplish this task? (Choose two.) 
 
A. Use CloudMirror. 
B. Use Cloud Sync. 
C. Use SnapSync. 
D. Use SnapMirror. 
 

Answer: BD      
 
Reference: https://www.netapp.com/media/8239-hybrid-enterprise-aws-solution-brief.pdf 

Question: 3 
   
Your company asks you to deploy a new version control management system. 
In this scenario, which two tools would accomplish this task? (Choose two.) 
 
A. Confluence 
B. GitHub 
C. ALM 
D. SourceForge 
 

Answer: AB      
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Reference: https://www.netapp.com/media/15566-wp-7256.pdf 

Question: 4 
   
A customer has a legal requirement to hold data that has a 30-year retention period. The data cannot be 
modified when it is under hold. If the legal hold for any of the data ends, that data must be removed. In 
this scenario, what are two solutions that satisfy the customer's requirements? (Choose two.) 
 
A. SnapLock Compliance enabled aggregate 
B. SnapLock Enterprise enabled aggregate 
C. Cloud Volumes ONTAP in GovCloud 
D. NetApp Cloud Volumes ONTAP with WORM enabled 
 

Answer: AD      
 

Question: 5 
   
Your company is implementing NetApp Cloud Insights to monitor the company's on-premises NetApp 
AFF storage and Amazon Elastic Compute Cloud (Amazon EC2) instances. 
Which information is required to configure the Amazon EC2 data collector to monitor the performance 
of the EC2 instances? 
 
A. AWS IAM Management Console password 
B. NetApp Cloud Manager password 
C. AWS root user 
D. AWS IAM access key ID 
 

Answer: D      
 
Reference: https://www.netapp.com/media/12208-wp-cloud-insights.pdf 
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